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全国硕士研究生入学统一考试英语（二）模拟试题答案

1 A2 B3 D4 D5 A6 C7 A8 D9 A10 C

11 B12 C13 A14 C15 D16 B17 B18 D19 C20 B

21 C22 B23 A24 C25 B26 A27 B28 C29 D30 A

31 C32 D33 A34 D35 C36 D37 B38 D39 B40 A

41 B42 F43 G44 A45 C

46 本文的目的是要力主一条极其简单的原则，使凡属社会以强制和控制方法对付个人之事，不论所用手

段是法律惩罚方式下的物质力量或者是公众意见下的道德压力，都要绝对以它为准绳。这条原则就是：人

类之所以有理有权可以个别地或者集体地对其中任何分子的行动自由进行干涉，唯一的目的就是自我防

卫。这就是说，对于文明群体中的任一成员，之所以能够施用一种权力以反其意志而不失为正当，唯一的

目的只是要防止对他人的危害。若说为了那人自己的好处，不论是物质上的或者是精神上的好处，都不能

成为充足的理由。人们不能强迫一个人去做一件事或者不去做一件事，说因为这对他比较好，因为这会使

他比较愉快，因为别人认为这是聪明的或者甚至是正当的；这样不能算是正当。

Writing

47 范文

Dear Mr Smith,

I am writing this letter to recommend Liu Gang to you, who is a colleague of mine in the English

Department of Peking University.

Liu Gang graduated from the English Department of Beijing Normal University in 2006, majoring

in English. Since then he has been teaching English. He is a capable person who has made some

outstanding achievements in his studies and work. Liu Gang now intends to prepare himself for

further study in this field. He would like to conduct some research under your direction.

I would greatly appreciate it if you would give Liu Gang assistance and guidance.

Sincerely yours,

Zhang Wei

48 范文

The table chart given above reflects the statistics of aging of population in China From 1990

to 2003, the number of people aged 60 and above increased gradually from 97 19 million to 136

million While from 2020 to 2050, it will ascend from 230 million to 410 million From 1990 to

2003, the proportion of people aged 60 and above rose slowly from 8 8% to 10 2% While from

2020 to 2050, it will rise from 15 6% to 27 4%

The table chart informs of the phenomenon that the aging of population is becoming increasingly

severe in China What exactly contribute to this phenomenon? Reasons can be listed as follows:

for one thing, with the implementation of China’s family planning policy and the improvement

of people’s living standard, fewer and fewer people are willing to have more children. Therefore,

the birth rate has dramatically dropped, which results in a lower proportion of youngsters and

a higher proportion of elders. What’s more, with the improvement of medical technology, people

can enjoy a longer life and the mortality rate has been thus reduced, which also gives rise to

the increase of the proportion of population ageing.

The aging of the population is also a result of social progress and economic development.
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However, this phenomenon will be likely to bring about some undesirable consequences in the future.

Hence, it is high time that we figured out some ways to face the up coming challenges


